
Tutorial [Symmetrics]

Noethr theorm' (Symmetry) := Lets look at a continuous transformations on the fed

① ,
which in infinitesimal form can be written as

d (c) -> P'(x) = P(x) + EAP(x)-
O

↳ infenitesimal parameter
* &(a) = some deformation of the

field configuration.

Now we shall call
this transformation a symmetry

if it leaves the EOM invariant . This is insured if the action is
invariant under O

Generally ,
we can allow the

action to change by a surface term coz the

presence of
such terms will

not affect our derivation of EGM
.

The Lagrangian

must therefore be invariant under Q upto 4-divergence

& 2 = wat
e for some e
-> This variation means.

The variation of Lagrangian is

x = *** + 8(2nd) She
ie






























































